H & 0l & AHS B Ml A

SA: Y=o

M QXX Dl Hat
ctels =2 HelSA (SH9 H2)
M- B SRASH) - HRAR - B2 of v e HIDE2
= 366,933 369,160 N2, 227
FOIXHRI Dlet Zst 288,213 287,464 749
= HJolsd 288,213 287,464 749
=0 wosd 288,213 287,464 749
101 21AH| 9,143 8,891 252
04 JIZtN2Z2XNSE+ 9,143 8,891 252
OdtAgs - &= FY 4,485
ol 2| 78,4002 %552 4,312
otiE2E = 4,312,000& *4% 173
O4A+R 2B3EH 22 4,658
oMl= - EZEH| 78,4003 x5 x2 2 +43] 3,136
ol =& 83,8403 x4 H 4 1,342
oMHEE = 4,478,000 *4% 180
201 Ler23| 3,800 3,800
01 At2teltl 1,800 1,800
O&= M2 A2 f01g8dl S34| 800
Odgld Xl 1,000
02 S3=gHl 2,000 2,000 0
o= H2EA2 3323 2,000
206 MH=H| 8,510 8,013 497
01 MHZH| 8,510 8,013 497
Odgld Xl 4,000
OdtA &9 - A= RFFY 4,510
oY= 1,7002%10 £ +55& 935
ORI S S 4K 50,0002 *1.35+55& 3,575
301 LELEN S 266,760 266,760
o7 88013243 266,760 266,760
oolg+¢ 300,000& 57 F 12 205,200
Ooolgao= 300, 0002 57 H+23 34,200
OO0IH 3| &AL
20,0002 x57 H*23| 12 27,360
&t SH|(2=38) 78,720 81,6% A2,976
=1l 78,720 81,6%6 A2,976
=3l 78,720 81,696 A2,976
201 er2 3| 30,840 39,186 654
01 AtR2telHl 19,290 18,990 300
OAtRZelHI(Z%H) 14,930
OF A R21BH| 94|
130,000« 12& 1,560
O=F ML HRE2(HAIRL) 2,800
2 35234l 20,550 20,196 354
OZ322HI(E5%) 15,070
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SN 22
A HZRAZH(22H)
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXEE=A 2| 1,280
ozEx 22 (20) 600,000 *2CH 1,200
OFAL A2 FAHI(ATE =4&H) 3,000
202 04| 29,340 29,340
01 =LHOLI 4,860 4,860
ORI HRFE 120,000& x32* 123 4,320
OIIIEAHSELE R 22104|
45,0002 x 1~ 122 540
02 A0 24,480 24,480 0
OZ A04H| 170,0003 12+ 122 24,480
203 =4l 9,540 9,540
01 1228 R=4a| 5,940 5,940
OoF=ud 5,940
02 HRAItAHA R FAIH| 600 600 0
OZJIr3(15%) 600
M A2 LRFEI 3,000 3,000 0
ORNEgg =AY 250,000 x 122 3,000
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